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.}g f:A— Bisl:1 if =z # zo implies f(z1) # f(z2).
f@u' i # T2, f(ml) # f(z2).
f:A— BisNOT L1 iff there exists z; # x2 such that f(z1) = f(z2).
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Determine if the following functions are 1:1. Proait.

ﬁA — Bis 1:1 iff Lf(ml) = f(:z:i)limplies T1 = Za.

| f:A—Bisll iff

1) f:R— R, f(z) = 22 II |
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=2 /(0,000 R, fla) =o2" = e
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3') f : [0$OO) =+ [0,00), f(x) = x”
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4) f:R— R, f(z)=2°
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5) f:R— R, f(z) =2

6.) f:R—R, f(z)=8zx+2

7) f:R— R, f(z) =22+ 3z

8.) f:R— R, f(z)=¢€"

9) f:R— R, f(z) =z*+ 22

10.) f: R— R, f(z) = sin(x)
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: A— Bisonto iff f(4)=B. B C-F'(A,)
:A— Bisonto iff be Bi_rmi_e.s there exists an a € 4 such that f(a) = b. 5 & #‘(A'
: A— B is onto iff {for allE?i € B, there ;—c;ts an a € A such that f(a) =b.
: A — Bis NOT onto iff there exist t. there does not exist ana € A s. t. f(a) =b.

Determine if the following functions are onto. If a function is not onto, prove it.

1) f:R —>f(a:) = g2 P s
_/é/ﬂJéu’F -ﬁ(}()”xﬁ"/ ACLS Ao sal 9

T s

so =1 s A (2 ’”‘Ze
2.) [:[0,00) = R, f(z) =&* =5 ﬂ . 4
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f:R—R, f(z) =z
5) f:R— R, f(z) =2
6.) f: R— R, f(z) =8z +2
7) f:R—R, f(z) = 2% + 3z
8) f:R—R, flz) =¢®

9.) f:R— R, f(z) = z* + z*

10.) f: R — R, f(x) = sin{x)
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|A| = | B| iff there exists a bijection f A— B. L
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f: A— B is a bijection iff flslla.ndflsonto i~ f)Cf{"éL}
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etermine if the following functions are bijections. If a functlon is not a b1Ject10n state
why and determine if you can create a bijective functi
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4) f:R— R, f(z)=12° 7

5) f+R-— R, f(z)=

6.) f: R— R, f(z) =8z +2

7) f:R— R, flz) =2%+ 3z

8) f:R— R, f(z} =

9.) f:R— R, f(z) =z*+ z?

10.) f: R — R, f(x) = sin(x)



